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9. (a) Ganewsa Gpyfl @’ =4+ c'-bc Cos A= Cos A=

Flpeued
(i) ABC g anivms Canremps Garemw A< 90°, ABDC ufled

BC!= BD!'+ DC*

= (AB?- AD?) + (AC - ADY
ABI - AD® + AC" + AD* - 2AC.AD
AB: + AC? - 2AC.AD

a= ¢+ b - 2AC.AB Cos A
: ¢ + b* - 2bc Cos A
E b+ -d
d . 2Rz
£ = 5 o Cos A Phe

(i) A=90° ABC gi QeniGarem & Csranw BC'= BA'+ AC
B = BA'+AC-2AC.ABCosA,C=90°
a’ = & +b-2cbCos A

D.»A C
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(i) ABC 9@ aflfiCasren péBsremsd A>90°, ABDC ufled

BD? + DC?

AB? - DA? + (DA + AC)?

AB? - DA*+ DAY+ 2DA.AC + AC?
AB? + AC? + 2AC.DA

¢+ b*+ 2b. AB Cos (x- A)

b* 4+ ¢* - 2bc Cos A

------------------------------------------------------------------------------------------------------

& 2(CosA , CosB +CosC) a+b’+¢’
I 3T

a b c

LHS = z["z*c2 M ] +”2*b2'°z] =2[a’+b’-c=)=a!+b’.c1

2abe 2abe 2abc 2abc abe
1 1 3 a+b-¢!
i + = =—
(ii) a+c b+c a+b+c 08 G 2ab

(@+b+c)(btcta+e¢) = 3(a+c)(b+e)
(@a+b+c)i+(a+bt+tce = 3(ab+bc+ac+c?)

a+ b+ ¢+ 2ab + 2be + 2ca + ac + bc + ¢t = 3(ab + bc + ac + %)
@+ b -ci=gh

a+b -t 1 n T
BV & n CRCMOS S0 as
2ab 32 R e S ey

by ¥3Cos8+5in0=[\3f +1° [-‘?-Coseaf%sm e]

% 2(CosOCos%+Sin0.Sin%) =2Cos(9-%)=RCos(6-a)‘ R=2, a:%

V3 Cos* 8 +(1-/3)Sin 6 Cos 0-Sin’ 0 -Cos 0 +Sin 6=0
(v3 Cos 6+ Sin 8)(Cos 0 - Sin 8)-1(Cos 6 - Sin 8)=0
(Cos6 - Sin8)(V3 Cos0+Sin6)=0
CosB-Sin® syebevgy 3 CosO+ Sinf - 1=0

Cos8=Sin® —, me=|=m§ = @=nn + %, @i neZ

n ) 1 n e n
2C 0-—|=1 Cos|0-~ |=—=Cos — “ - -
os( 6) = os( ) > os3=,9 . m:z:t3

9=2m1t1:-;£+~16£ BuE m=0, 21,22, ..



(c) -1€x<1
Cos”' (-x)

= % - Cos™ (X)
= Cos' (x)

0 Dai s @ww Qugorend 0 Bpew n Bpe BeLuile Bms o,

= Cos®0
= «Cos8=Cos(n-6)

KT (n-0) oz 0 Bpow 1 Boew Berule Bmassn

o Cos'(-x)= m-8

= m- Cos'(x)

(August 2010 Combined Mathematics - IT Answerg
. @) &f cwrges soLw aBésw Cpyo v = u+at
"“‘f 0 = u-gi= =
ulA gefldws Pullat Gaus-Opy ey
B
! LA
| AR
$ t 1 > anoid

geflaams Pullar Geus-Gpy euengy GpiCan® AE wWerned STUUGLE.

pflsmsaci P, P, P agiuer gafldams P®dmig deocwrs efsuuBaugre
seupler Cvasgdar flaowssigs spae P uflar Coagdla Hlewd sz
sps@mLei gdullie Cprhsee wapbu Qurms s, B mp 5
geflimasa P, P, P ullar Causniashar Powd@sg smpse Gus Opy
awemeuflsar Pullel Geus-Opy averdlular L@ Hseyar popCu Quimsgub.

geflsms P Bai flowiwsy Cus snpdar Saua-Cpy svergy CpiGan® BE
poflams P, Ba fowigigy Cus smphla Gaus Cry ey GpiGasn® CE
MP,QGWWWWGMWunW@DE
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devr. BGous smpplat Gaus-8ry ewergy

Camid 4

é =
1 '
1 '
1 1
1 !
1 )
' )
' '
' '

3v M—lL,
H ! '
: I '

2 Ke ; ol
H . : !
: ' 1
H : ! 1
' 3 ' '

Fi G H| L A
1] 1 1 i L Ane
u u Ju 2u Gmoi

22 8 2 g

............................................................................................................................

() @pporag GusGsr uLgdlnig sreae gelsomssomn 961 Cpyw ¥

Cprsdle segeow apsocdapa asiug GaefliueL.
(i) @rewireugy Ceovs-Gpy ey lalms s

geoflams P dloLwrss Qseain gryw = wuguy Qesieusw FIIK
= :\'[-zﬂo—"—]:.“i‘.
g 2) &

ugty Qeaieusy GILM

- -

=1t N 2uv
ol V3 SemcfRL) B

£ 2g g

geoflsms P dleoocwns Geap gngo

seflsms P dlocwrs Qsap grgw = ugdy Qeaiausy MLNQ
2u 3w | 3uy
e bR el
£ 22) &
3uv
giofldamaser P.P. P dlewnas Qeaip gryw T OHUTE) Apes B

goflsmaamn gagulled 98 Bgge aflwslarpen.

............................................................................................................................



(b) _V

wiw o

i DC QP

=3
“3
i
=
=

+

<

=

3

AABE ufl)

AE = \/u’ -(VSina)

EC = V Cos a
S X= AC = AE - EC

= Ju-ViSin'a - VCosa

F8ralgdlpe aglyren Fasules PO grisems

P
£5s a®ss Cpyw t = ‘,?

ABDEufled DE=yu' -V’ Sin"a

Y=DE+EC= {y'.V'Sin"a+VCosu

p
FCrcgdlen dlowsullss PQ groges S a®ss Cprw = /) =*\,9

PQ PQ (X+Y)
X =Py XY

Vu' -V’ Sin‘a - VCOS(I'*J[I:'V:SiII"u+VCO$(X)

= I l
o Coseca \ﬁ: N s.na-VCOSa)(\r: V? Sin‘a +VC05‘.J

5 d(owca(zslu -V? SmJ iZ\}u (osec w-V? )

W -V Sina - V2 Cos” «

......................................................................................................

Gurgs Cpge = ( +1u,

(S e+ Cos’ u=1)
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(i) qa’mff Q gangs yerafl P ullar gCyncLgdlar glavsulled a Bener (- ) e
gl Qurgs Gy GupiuBs.

2d yJu’ Cosec’ (n-a)-V* _ 2d v’ Cosec a-V?
u.‘_vl’ IR -V'

Qurgs Gpgw =

(i) Guorgs Crr Bflemagsns Csred @;ﬂc\ms Bmes Cuaipio Qgn@gullar
Bfles Quporersglp@ (Cosec” a)g, = 1=>Sin*a= = a=90°
yerafl Q peng podlet wpepw amauﬂa‘) yearefl P uflpe Gpi agdlgreagra
Bra@w Gurg Qurgs Crrw Byfeun@ib.

2. Cpgww t=tuwled OA=x, AP=y aars.
x+y=1=x+y=0=3X+y=0
syafletug F=-%, f=j =>-F+f=03F=f le—uy—@f

geflaems P ulpe AC afiCw

F=ma g JjCurdlss. S
mgSina-T=m(f-F Cos Q) wevnavenauen (1)
T
GeredléE F=mag & I &
T= MF + m(F - fCos @) =---esvuan- (2) B C
Mg ™
f=F(1H+(2)=>mgSina = MF+m(F-F Cos o) + m(F - F Cos a)
mg Sin
3 M+2m(l Cosu)
sudlar Buwéagglne@ u=0, d, =9 F=v
v=m+la+t . Ud= 0+—Ft == J_ JZd(M*,m“ roosa))
mg Sin o
fudla Bwssggpe V=7 u=0, F=v t=vY v=utal +—
B mg Sin a 2d(M+2m (1-Cos at)) 2d mg Sin «
v "= M+2m(1-Cosa)’ mg Sin « ~ YM+2m(1-Cosa)

------------------------------------------------------------------------------------------------------

pefldmws Pullpe v =u+at\ gad afiCu
v, =0+ (f-FCosa)t = F(l-Cosan?v

v=utat peasdlng Qenessia JyCwrdlés. v.=0+FSina.t
P = IViaV] = JP(1-Cosa) ¢ +F Sinat’ = Ft2(1-Cosa)

_ mgSina J;d(M+"m(l -Cosa)) J—Wos—a) Jdl}lgSiﬂa(l-('osu)

- M+2m(!-('osa) mg Sina M4+ 2m(1-Cosa)
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3. sefisos P.Q @ sorw apss Cogw 1, aeis.
svusde P Bpew Q e BeruudL
dlenL g gy R aens.

A @ops Q B [V=u+at
u Sin «
g

0=uSina-gt, =1t =

A @dlmis Q Bp@ —s s=ut+-_l;at’

uSina_ 2u’Sinca _u’Sin2a

R=uCosa.

e padandy allgluug
muCosa +0=mV, +mV,

V,+ V, =uCoS @t ~mremsmenns (1) @

@par — —
pluylLaflear uflGengemaalgiiug u Cos « 0
V-V, =-e(u,-u) cHet R Y, =¥
Vv -V, =e(o-u Cosa) = eu Cos @t ==nvmmmuann (2)

|
(l +e)uCosa = M - ;;(I+e)u(’osu

(H+@2)= 2V

I
(H+(2)= 2V, = (l-euCosa = V, = =(l-euCosa

......................................................................................................

Bl (i) Blavew (i)

w,,°
Beow (i) Bp® F=ma '\ @ JyCwrdlés. T - mp Cos 6 = = -l'— ------ (3)
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Buwssggdlar Curg Beopullen o eren Buoaula Hos auBurgne BwsssHer
Slwss s Qem@gsrs Bouusred Byeoawursd Gueas Gswuwiucolldme,
63 snuys 55 geusglaiug

. Beow (1) @0 (PE+KE) = gdeo (i) @ (PE + KE)

-mgl+lmv --mglCos&+lmW2
1 gro5iie ;
W V,,--;,I(l -CosB) = Z(l+e)'u'Cos‘a-l’.g(l-(os())

(3) = T=mgCose+—'7-[%(l+e)zuECos"e-Zgl(l-Cose)]
Loy geflsoms Q HéGusp® 0=n How Curg T=20
T=mg(-l)+?[%(l+e)’ u=Cos’a-2gi(1-(-l))] 20

E][c uﬂ'}

+ e 2 2 uCosa-
Ube)uCosa-zglzo,[ lve

5
'. uCosuE:I-‘{s_—%l adfler geflsms Q yrewm alLGos 6 G
sofsmsllar Bussgms smgs geolsos Qe e Corgiuspe (paiami
geflams P socps xg swi IV’ = u’ + 2as

u’ Sin® a
0 =u’Sin“a+ 2(gh =h="—r—

u’ Sin® «
oL wnas Qeerp gryw -T =R
Burgellar P dleoLwnas Qeaip gngd =S
Co>Dd s=usiut, 9—S-llr—m=()+lz;x.’ = t.=Usmu
2 2g 2
I 2uSi
C->D S=ul+éa!"—>S=Vpl.=—2-(I-c)UCosa. uS;na

=i(!-e)SinuCosu=B;(l-e)Sin2(1
2p 4p
P Alovwiss Qearp Gurg gngw =

0 SING My oy & e (3:0) Sin2s
g 4g 4g

e=3 @ Curg gefldems dorwrss Qeap grrw yiduwvrgw. aamBe
SemBuw eflwoule yeareflenw eupsert ugo.

R+S§=



4,

sufloauled) ey oeier Gurg ) (@) (i) W)
Byeoa T aais. glow (i) [
mgl
T,=mg=— = u——ig—— >
Bl (iv) BD® F=ma|
mg-T = i T, 3T
______ Bt [ S p—
g-kgf—;'—'ﬂ = mX nl a
e §-oommmmegefeennanes %
S S v
{ mg x
mgl x b +
+—== =0 b
a e v
® mg
.i‘+£.r =0 v
a mg

x=ACosJ-gt+BSinJ’-g:l
X—-AJ—SII\J_I-*BJ—COSJ_ ........... (1)

=0 = = b =Ax14+Bx0 A=)

t=0, x=90 :0=-Ax0+Bng~l=:B=0
(7]

- x=bh Cos _&,
a

x=-a @b oy gefldms aoflu Bos Buisios & iGw.

u=bCos(J—;-t]=>Sina=
a

Cos(§+a)=-8ina =-'f- = Sina =

>

>R

O gefléms P pag Cpyw (= J-[ +u]®p@ aaflw Bers Bussgams
g

a Y
u‘)‘p’ QIU@ Sina -; awmy a = Sin’ (I))

.....................................................................................................................
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Cagy af) :  aoflw Beos Buissos HoGw uGE el called CD aeywn@ib.

Canem Qoush = 0= J%

x=hCos\lE: = i=-bJ—g SinJ—E—-f
a u U
l=[5+u)‘{§ = :‘:=-b"3—Sin[JE(£+a) 5‘—]
2 g u al\2 g
::-bJ£ Sin[ﬁﬂz) =-ngCosa =-b"§ . L =J£(h"-u")
u 2 a a b 7

oooaeflu Bes Bwissdldmpe oflegw Crrsdled gefléaems P ullai Gausw

Gues Gprad "%(h’ -a')

gefldamsurag Aule Cwed Crrédw glowdgsns Cusggea yallufiudlar

£ yyou Gausw ‘E—(I)’-a’) Cue) Coréd Bumi@p.

............................................................................................................................

Iv’ = u +2as g JyBundlés. s=la=-gv="7

v= (b ea)e 2l = E(prea?)-224
o o m

b 2
I:h:-u:- 24 ]= 2 [h’-a’[l%—zj—']]
mg a mg

rofe 20 :
b*>a’ l+-';£ aafled vi> 0

2 . 2
[h-a l+-g)-f-] [b+a I+-‘i)>0=>b>a I+i
\J mg d mg V mg

aafler P falimdled yoflwwadars Caussgar Sigskso,

[
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5. (a) FA aflCw eflmssmms smprés.

X =« P+ 2P Cos 60°- P Cos 60° - 2P + 3P Cos 60° + 2P Cos 60%
=6PCos60°-3P=0
FA p Gemi@gprs aflmssme snprés.

1Y =12 Sin 60° 4 P Sin 60° + 3P Sin 60° - 2P Sin 60°
3

=4PSin60°=49x—-23x2J3_P

F A
P

RI=X'+Y = R=2J3PNTallweayer AC afiCw gré@w.

A upflsSlmuu afss.

fG\ = P.2aSin60° +2P.4aSin60°-3P.4aCos 3(° + 2P, 2aSin 60°
=2PaSin60°=Pa3.Nm

S Qen@glureng umwer Pu3.Nm eéten §f Daewwen

AC afiBw sré@v 23PN agw ¢f almawer aflwsd@ swagiures).

feruuie FA @a A @ms g
x gy He s ehen yshefl H B

2J3P. 23P umva saam al@ssamer
sworsaun efyrsaw AC Jip@é
FOTGESHTONS LS5 56,

23Px=3 Pu

I u
. X=-—

.. H@& AC n@é swriprons m
sofl aflws 2 3P afl@aryst aflms @w.

" HB®s 2,3p dlemsow CA Bps
surpgroren Fosulle yesdlensd Gsred sufloaulle Bomaen.

(b) Gasred AB win B upris Fmuuw a@ss AB = BC = 2a
F,2aSin45°+ WaCos45°=R .2aSin 45° 2
2F, + W=2R-=x- ()
Gsred BC uilp B updigdlmuuw aBsés.
S.2a Sin 45°=F.2a Cos 45° + w. 4 Sin 45°

25 =2F 4 Wenen= (5)
Dows@ssns smprés. R+S=W+w--—-(3) A F, F,
dleoLwns sprés F, = Fgommeee (4)

(H)+(2)2F, =2F. = 2R-W=28-w w W

2ZR-2S =W « W =mmmenee (5)
(3).(5) 4R =3W +w
(3) 4S =4W +4w -3W-w=W + 3w
(1) = 4F, =4R-2W=3W+w-2W=W +w



6. (a)

(b)

Fo_4E_Wew By 4R Wew
R 4R 3W+w S 45 Wi+3w
suglowsy F, <uR e F < pS
W+ w < : W+ w g
3IW+w " - W 4+ 3w a
S W+ w 2
B8 W 3w
W+ w '
= W aafled F = uR 2.6 @b Curg e grwey C ulle ademas

suglanw oL gerred F < pR o geupred e graiey Aufled aedened
suglow Ssee.  aaGu papa Aulld ewll Cufled flspd Ui,

swidflaig C o ehen wpsnssd

dleorwneng (X aeis)

Bsred BC ufler swfeovew 1Y = W

Bufled wpsraagdlar smm X — l

Gared BCullnw B updlgflmuuw a@as. 2W*yy 2w
W.a Sin B =X 2a Cos B

X= -'; Wtanf ==----- (1) Y
Barer ABullp@ A updisglmuusy afss.
/Ay X.2a Cos o =Y.2a Sina+2 W. a Sin a . w

X = 2Wian @ -==---- (2) X C X

1
(1L(2) = 5W(ana=2Wlana ~ermTy v, -
tan P =4 tan « AB (da) 2. enguL| ION

AE (dc) Bupewen 20N
ED (be) ERET Y 20N
BE (de) o »sUY 20N
BD (ef) Bupeneu 20N
(. D (Ib) n.aop&q 20 N

il

n,a»puu ‘,0 N“._]




() Cupdl Spuuw a@ss
Pa Sin60° =10v3 .20
P=40N
(i) C uled eoten wgprésw R ey
6 G Carenw O aars.

—— RCosb=p 1 RSinB= 1043
R* Cos’ + R*Sin® =P + (103

R =305 +(10V3) =107 (16+ )= R = 1019 N

(an9=M=£ = 8=tan"[£]
40 4 4

7. xA swsdfleamed yellufiiy w@wworeag o

¢ h ] afiCw Bme .
sbflar oiss) pacds, 2 4d ODefmim
yallfroy ewws GBe ~156 v aais.

6 aL i PQ et Lewfley = xy(Avip
2 Oupflsglmuve apes
2 o L A
Ax -3-x(hlanu)" hp¥= In(uanu): xpdy

L) 4
i %= J"\"J.\:=£’— @ =Fal
i a

Lo sabifler yelldiuy ewwwreag swsdi sis afiCu snquile Bms s lh
SIS F SremULGLD.

Q‘-_-H_’
swidfeiuy sy Quraalar yew swsdi rI\ [R
66 aufilw Bumésn > .........

allew PQ @pig ssdla yowsgparer
STIW ¥ aens.

f - -'_,. .
lnk:n-}.v-‘h]p.f=(nR-‘H)p.f'--lm~-'h[lh} T SN 7 0
3 2 3 4

~ 6Q2ry H - WH -4
= 0 = Y= P = i
Y=k 2w R=2raafler G HTh b PR

3h-48HA+24H =0 = A -16Hh+8H = 0
(h-8HY =56 H*  (h-8HY =S6H* h=8H +JS6H" =4+ J14)H
h=dasVia)HoH L Qurmgstg o opeofsVian oEe——H——

X - B a4 fi . e : R
tan O = f—’g = .’—’- - =4 Jz)H = 214 Jz)SJ’ O;...‘..\.\.(‘ .........
PO R P 2

0 = tan” [s(4- V10 04




8. A =(AnB)u(AnB)
P(A)=Pl(AnB)U(ANB)
=PlAnB)+PAnB)] (AnB)n(A~B)=¢
e P(ANB)=PA)-P(ANB)
AuB =Bu(AnB)
P(Au8)=P[Bu(Ar\B')]:P(B)*P(Ar\B') TANANB)2$
=P(A)+P(B)-P(ANB)wap uedula ug
(i) P(ANB}=PA)-P(ANB)
=P{A)-P{A)P(B) “A.B aatuar sagn Blapssey
=P(A) (1-P(B)) =P(A) P(B)
ergn Blapeyseflar sumyallwdsantuy, A B aiue sy 1 spsflaen.
(i) P(A'NB) =P(AUB)| De Morgan's afl@luug
=1-P(AWB) =1-PA)-P(B)+ P(ANB)
=1-P(A)-P(B)+ P(A).P(B)
=(1-P(AN(1-P(B))=P(A") P (B")
sngn Blepeyseiar aorallassaniug A’ B aaiuen ETHTH®6U.
Ceasiug Bipsr SIGUUILLESITE STWD ST)emons Gari Gurigsoiles
Bosy Ppssuupe Pepsd aas. D asiug Fyisg ubg alFsrene
snwib srgemors Gprer Gurtyselle Bois Hpssuudn Papsd aas.
P(C) = 0.2, P(D) = 0.1
PIN) = PIC' D) =P(CYPD) = (1-PIC)) (1-P(D)) = 0.8 x0.9=0.72
PA) =PICAD)=PC).P(D)=02x09=0.18
P(B)=P(C' " D)=P(C") P(D)=0.8x0.1=0.08
PAB)=P(CD)=P(C)P(D) =0.2x 0.1 =0.02

0.9

0.0
Aaup Cxrcal A 0.7 0.2 Aaup Carcal

sGxvme 05

Qe Cxached
pHfea
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wyeufiiue g Sler apevid
P(Qapgl) = 0.72 x0.9+0.18%0.5+0.08x0.7+0.02x0.3
= 0.648 + 0.09 + 0.056 + 0.006 = 0.8

..................................................................................................................

P(Qeur ) = PIN) P(@Qeud i | N) + PCA) P(Qaup 15 | A)
+ P(B) P(Qeup 1§ | B) + P(AB) P(Geurd 38 | AB)

=0.72x09+0.18%x0.5+0.08x0.7+0.02x03
=0.648 + 0.09 + 0.056 + 0.006 = 0.8

wyaufluuL g Fellns &
P (Bzrevall) 0.72%x0.08+0.18 x0.4+0.08x0.2+0.02x06

0.0576 +0.072 + 0.016 + 0.012=10.1576
P(Gsrerall " B)=0.08x0.2=0.016

P(Ggreball NB) _ 0016 .,
P (Ggred afl) 0.1576

P(B|Csreb afl) =

Capyn

P (Bpae) afl) = P(N) P(Ggred afl | N)+ PLA) P(Carad afl |A)+.

+ P(B) P (Gzreb & | B) + P(AB) P(Ggred aff | AB)

0.72 % 0.08+0.18 % 0.4+ 0.08x0.2+0.02x0.6
= 0.0576+0.072 +0.016 +0.012=0.1576

P(Caresall M B) = P(B) P(Caredad |B)=0.08x0.2=0.016

o P(Bsried ~ B) _ 0016
B|Gpreref) = - =0.1
P(BIGprval) = ) 0.1576

e adate bbbt kel

------------------------------------------

N E - d
x5 W, §
wipH Floe "Z(_\‘ ¥)

(i) ®or = ¥=58my sflurs uflwoule amé Gareren. uliCurg.
X= 7‘—[2“:.:, +53+ 65]: I‘G[ix' +1 18]

Lms s e et BeL ;:-410' ix,+63+55]=-;—0[i.\-,+”8]

amBeu auyp srgemons = B un gl suuL afledme.
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i

iR
(i) wrpphpar =32 = 3'6[2(.\-, -58) +(53- 58) +(os-ssr‘]
1 X "
e _—46[;(.\',-38)'4-25-0- 49] _________ (1

Hosssdar Sar wrpphipe sl=z'6[2(x,-38)‘+(03-58)’+(55-58)’}

ixl

= §'= z%-[i(x, -38) + 25+ o] ......... (2)

. 34 74 -40
2 - l ¢ T - ,2..":-——--— 5 —— T
(2)-(1)= -3 " e 1
$2=32-1=22
S Flmgs srgemwrs wrpd o SDDB Giett o ).

............................................................................................................................

60 _x-45
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